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20166 _ JUNE (2016%6A4) (% 2 8 4E) (LB Zopk
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N | TR | S _Lﬁivrﬁ FRIER | Rk (LOZSTD | AaT, | 100 | 10730 | 007% | A 8F | FE/h | Sk [2.0km> [BIEEA 50005 | M BLW IR A
A | e ©) ) [ B0 | (0 [ ) n) (k)| () | (WD) | CxL0OR) | () | (D) | (i) (08:30-18:30)
1 986.7 | 16.8 [20.2 13.9 21 N 12 N - - 1 - 40.0 35 1
2 989.2 |16.6 [19.8 |11.7 19 NNE| 12 N - - - 36.0 2
3 991.2 |17.9 |25.8 | 8.9 13 NNE 9 N - - - 40.0 3
4 991.0 |19.6 |25.4 |16.3 16 SW 10 SW| 3.5] 20| 0.5 135.0 120 ® 1
5 990.8 | 18.0 [23.7 |15.3 17 N 12 N| 7.5 ] 35| 1.0 1 9.0 20 ® i 5
6 992.8 |19.3 |23.7 |14.5 13 N 9 N - | - - 25.0 120 6
7 991.0 |19.1 |21.1 [17.5 13 SSW 9 ssw| 3.0| 1.0 | 0.5 8.0 i 50 [ 7
8 990.0 |22.2 129.1 |17.1 16 Ssw| 11 SSW| - - - 45.0 35 8
9 990.4 {20.1 [21.8 [18.9 10 N 7 SSW| 12.0 | 4.0 | 2.0 2.5 | 2.8 15 2.8 ® 9
10 992.8 |21.0 [25.9 [18.0 14 N 10 N - - - 15.0 40 10
11 992.3 [23.6 [28.8 [17.9 17 S| 11 sl - - - 20. 0 /// 4 11
12 987.4 [22.7 |27.3 [20.1 15 SSE| 11 | .SSE| 26.0 | 9.5 | 3.5 8.0 100 © 12
13 980.2 |19.4 [20.4 |18.5 13 NNE 9 Nl 22.6 | 9.5 | 2.5 1.2 13.9] 29 5 1.0| 2.9 e 13
14 | 983.7 |21.2 |25.7 |18.6 13 N 9 N - - - 10.0 | 25 14
15 985.1 |24.0 [29.8 | 18.6 19 SSE| 12 S| - - - 20. 0 /// 15
16 980.6 [ 22.2 24.4 [20.6 23 SSE| 13 S| 13.5 | 5.5 | 2.0 0.2 | 4.5 1.9 V5 27| 1.9 |e == 16
17 986.7 |22.4 | 28.1 | 17.3 18 NWN| 11 NW 30| 25| 1.5 10.0 30 17
18 993.3 122.0 30.5 |15.5 17 N[ 11 N - - - 30.0 /// 18
19 990.0 [20.4 23.4 |17.5 21 S| 12 S| 4.5 2.0 1.0 6.0 50 ® 19
20 987.6 [23.0 [28.9 [18.3 16 NNE| 12 N| 18.5 | 17.0 | 6.5 15.0 20 20
21 986.7 |22.8 |26.8 |20.7 13 NNE 8 NNE| 4.0 | 3.0 1.0 9.0 20 © 21
22 986.6 |22.4 |26.4 |20.5 10 S 7 SSW| 5.0 25| 1.0 5.0 20 e = 22
23 985.0 |20.7 [24.1 [17.3 19 N 12 N 7.5] 30| Lo 1.6 | 3.5 | 0.3 15 3.3 | 0.3 |® 23
24 | 982.0 |20.5 |24.9 [16.2 21 S| 14 S| 22.0 | 15.0 | 9.5 6.0 40 ° 24
25 982.0 |21.9 [24.0 [ 19.0 14 WSW 8 SSW| 3.0 | 3.0 2.0 15.0 15 - o 25
26 988.3 |21.5 [26.1 | 18.2 16 NNE| 10 N - - - 15.0 26
27 991.4 |21.7 [27.9 |17.4 14 S| 10 SSW| 1.5 | 1.0 | 0.5 9.0 180 27
28 990.8 |19.5 [23.2 | 17.4 13 NNE 9 N 9.0] 35| 1.0 2.5 | 0.5 5 0.5 0 28
29| 991.7 [20.8 |24.6 | 17.5 13 SSW| 10 SSW 1.6 | 1.0 | 0.5 5.0 10 ® = 29
30 991.8 |22.8 [27.3 [20.6 12 N 8 N 9.0] 85| 7.0 5.0 20 D 30
F 990.6 [19.0 [23.7 [15.2 26. 0 - 2.8 0.0 0.0 2.8] 0.0 (RAB RO D)
)| 986.7 |22.1 [26.7 | 18.3 ] 88.0 ) 8.4 | 4.8 0.0 3.7| 4.8 | @ 9 Bl = b
T4I| 987.6 [21.5 |26.5 |18.5 62.5 4.0 ] 0.3 0.0 38| 0.3]| =g R B\l % =
A 988.3 [20.8 [26.3 [17.3 176.5 15.2 | 5.1 0.0 [ 10.3] 5.1 |2 hoh £ men =~ fokits
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